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STATISTICS

Full Marks : 100
Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks

for the questions.
All Questions are Compulsory.

Total Questions : 25 Nos.

Q. No. 1 carries 1 mark each 1x12 =

12
Q. No. 2 to Q. No. 17 carry 3 mark each " 3x16 = 48
Q. No. 18 to Q. No. 25 carry 5 mark each 5x8 = 40

Total

100 -
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1.  Answer as directed : . , 1x12=12

Fomar e A ¢

‘ (n) If f(x)=k where ‘k’ is constaht then 42 f(x)=? o 1
T f(;é):k,"w 'k’ B &< (ST 42 f(x)=? |

() Give one example of certain event. . 1
ff*se <o @by Tz e |
(c) ‘For Complete Census, Sampling error is always zero”. 1

State : False or True

“srospef Sl (FES eifoniH @B A ‘07"
&% (7 TvT GEd |

(d) Find the value of 4logx. 1
4 log xJ I Tferedi | ' '

()  State under what condltlon V(x)=0. : . 1
ﬁ?s—mﬂw V(x)=0 TR | ’

() State any one characteristic of Poisson distribution. 1
S35 IBAT AT 951 T /RS T |

(§) State any one assumption of Numerical integration. 1

RIS TR CFAS A 5 IS TR 4|

(1) What do you mean by “level of significance” ? 1
“Fiefeel T~ e & @ 2

(i) State any one uses of chi-square test. . .
3ol R R b IR T =4

) “For Binomial distribution, mean and standard devj ation ar )
State : True or False € equal”.
“fyoiv IBT CHFAS NG A AMAF Koo T~ — 1
&% o qF SEd |
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(k) Define “Statistical Hypothesis’-’.

siRARRE o ke
(1)  State the name (any one) of Random Number Table. 1
Ricrzan 3 o et Sifeiig I Sremd |
2. Prqve that : 3
(e =9 @)
e x=( iz ] e x Eex
E M A2 X

3. Write the Newton’s forward interpolation formula and state its assumphons

ﬁmwm@meWWwﬁmeu 3

4. Given (T3l =iR)
x : 3 7 9 10
f(x) : 168 120 72 63
Find (frear) f(6).
Use interpolation (S IR ?FﬁaT)

5. What do you mean by Numerical integration ? State any one rule of

Numerical mtegratlon 3

FAIF S e [ e | ﬁ@mwﬁrﬂawwwﬁWWW|

If A and B are two mdependent events (It A W B 701 %% oAl =) Given

that (31 @MCR) 3
P(A)=5, and (@) P(B)=1

Find (%fr?i\em)
() P(A+B)
i) P(AB)
i) P(AB)

3
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7 . An unbiased coin is tossed until head appears. Find the expected number

of trials. 3
aﬁ‘tW*{m P mmwmﬁzv’mﬁlﬁwviwa\ma@ﬁ@m

et =1
8. Define Random varlable, Probabﬂlty mass function, Probability density
function. 3

weer! i —
WW,WWW,WWW|

9.  Prove that for any two events A and B
. P(AB)<P(A)<P(AUB)<P(A)+P(B) - 3
" A S B R 75 o AR o 3 @ - I
P(AB)< P(A)< P (AUB)< P (A)+ P(B).

10. Find the mean of Binomial distribution. 3
fasi 79 1T Bfveat | ' |

11. For a Poisson distribution, variance is 2, find P(X= 2), P(X =0), P(X >2).
, , 3

o5 3% (e Ko I 2" F (o0
P(X=2) P(X=0) P(X>2)

T Tferet |
Given that (T WTCQ) e?=0135

12. Under what conditions, Binomial and Poisson distributions tends to Normal
distribution ? ’ 3
ﬁsv‘mwﬁﬂwm%ﬁwamﬁqammﬁ ?

Explain, Large Sample test for significance of mean. 3

13.
mmgmq@aﬁwﬁmmmwwl
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14.

15.

16.

17.

18.

19.

Write a note on “degrees of freedom”.

Fiox AT 4TS (Bt |

A coin is tossed 400 times and head appears in 220 trials. Test the hypothesis
that the “the coin is unbiased”. 3

maamoawmataﬁzwwmm‘maf—a—mwa@ Colr St | |
“SEICE! TSNS " O AT |
Given that (M3 =tR)

Pr(|z| <196 )=005.

State the uses of ‘t’ test.

‘t'- SRR IRYT BER WA

State the advanfages of sample survey over complete enumeration. 3

I AT afend iR ARaTR SER w1
State the Simpson’s %rd rule for Numerical integration. Hence evaluate
j 1+ x2 and also estimate the value of 7. S 5

WW m"f?rwm MWWIW"N I— e
me n'aWWWI

State and prove Multiplicative Law of Probability. ' 4+1
SiReR ST ©F T Wik 2 3|
Under what condition (state)
E(X,Y)=E(X).E(Y)
R 5 Ao (T )
E(X,Y)=E(X).E(Y)
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20. Two urns contains respectively 6 red, 5 white and 4 red, 3 white balls. One
ball is transferred from the first urn to second urn and then a ball is drawn
randomly from the second urn. What is the probablhty that the selected

ball from the second urn is red? - : 5
74 (TS TAGTH 651 Fel, 551 o0 i 4T1 7, s‘ﬁ‘twaﬁwﬁamﬁm RIS

W&W«ﬁ@mﬂmﬁﬁawwmﬂaﬁrmwﬁmm
wwﬁ@s@mﬁwwwﬁmwwﬁamwmwm
seifdel /A 2 .

21. (@)" Prove that (e = @) - | 2
P(4/B) + P(A/B)=
®) If @) X~N(u=60,0=5) ' 3
find (%1%@)

@ P(X>75)
() P(50<X<55)
(i) P(X< 65)

22. (@) State the uses of Pilot Survey. 5
g e IR IR A T

(b) Distingﬁish between simple random sampling with replacement and

without replacement. 3

ARSI WAl SR A o elfeEET U %cm =

23. Show that in case of Simple Random Sampling, sample mean is an unbiased
estimate of populatlon mean.
State the advantages of Stratified Random Samphng
3+2

ammm%WMwW%WmW@ml

%—WW&%&TWWWI
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24. For a 2x2 contingency table; the observed frequencies for the classes are

given as follows. 5
' ~lal|b| -

cl|d
Give the formula for calculating the value of y?(chi-square).
2x2 SBiE e Rfen @fin IrTITel Rels oere fwat =1

| al|b

cld

R R z?@%ﬁm@fﬁw

25. For a random sample of 16 values from a normal population given the

following information—
A AT A 16 SRS aﬁ*wf 9o were faml ST I

> X=664, T(X-X) =135 |
Test the hypothesis that the sample is drawn from a normal population

with mean 43-5. 5

ﬁﬁwﬁﬁmwﬁamm435mﬁw%@wawmwn

Given that (@l SIR)

to.05 (15d.1) =2131.
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